a8 Foundation Worksheet w
7:01 | Perimeter

kName: ‘ Class:

Examples
1 Find the perimeter of these shapes.
a P= 7}} circle + 7 X 2 b Same markings = same length 18 m
' Bottom = 18 + 12=30m L2m
1 7em
=lxamx7+7X2
4 T+7 Leftside=12+15=27m o
+ 25 cm 7em P=15+2x12+18+27+30 8
=114 m
2 a Find x using Pythagoras’ theorem.
x2 =102+ 242 =676 10m
x =./676 =26 m
24 m

b Find the perimeter of the triangle.
P =10+24+26=60m

1 Find the perimeter of these shapes, correct to the nearest whole.
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3 For each figure:

i use Pythagoras’ theorem 10 find x i find the perimeter of the figure
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Answers can be found in the Interactive Student CD. @ Pearson Education Austealia 2004.
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